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QUESTION 1

Which statement is true about LockVault?

A. It provides a fast, centralized, andcosteffective disktotape backup solution.
B. It is a compliance and data protection solution for unstructured data.

C. It allows administrators to delete entire volumes.

D. It can useNearStore VTL as a compliant destination.

Correct Answer: B

QUESTION 2

Each disk in a VSeries configurationisa

A. LUN created on the backend,thirdparty storage array
B. RAID group on the backend,thirdparty storage array
C. disk on the backend,thirdparty storage array

D. MultiStore virtual storage system

Correct Answer: A

QUESTION 3

NetAppDataFort utilizes the strongest commercially available encryption, which is
A. EAL512

B. AES256

C. FIPS2

D. AES512

Correct Answer: B

QUESTION 4
A storage administrator does not have enough storage to fill the demands of the DBA team, but knows that their
demands will exceed their actual requirement. Which type of volumes could the storage administrator provide them as a

solution?

A. thin provisioned
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B. snhap reserve
C. FlexShare
D. traditional

Correct Answer: A

QUESTION 5

In an Enterprise Content Management (ECM) environment, why does NetApp build a solution based on SATA disks and
RAIDDP?

A. ECM applications need fast read access and robust data protection.

B. ECM applications need large economical write intensive storage with robust data protection
C. ECM applications need high performance read/write access.

D. ECM applications need low capacity with robust data protection.

Correct Answer: B
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